[image: image1.png]BOX_AND-WHISKER PLOTS: use a number line to show the distribution of a set of data. The box is drawn
around the quartile values, and the whiskers extend from each quartile to the extreme data points that
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REMEMBER THE 5S-NUMBER SUMMARY:

Lowest value (40): Lowest value in the data set

Lower Quartile (52): Median of the lower half of the data set.

Median (80): The middle number of the data set when the data is put in order from least to greatest.
Upper Quartile (88): Median of the upper half of the data set.

Highest Value (100): Highest value in the data set




[image: image2.png]*Each section represents 25% of the data:

25% of the numbers will be between 40 and 52 50% of the data is below the mean
25% of the numbers will be between 52 and 80
25% of the numbers will be between 80 and 88 50% of the data is above the mean

25% of the numbers will be between 88 and 100
Example: Use the data below to construct a box-and-whisker plot.
12,14, 8,10, 5,16,10,11, 10

Step 1: Put the data in order from least to greatest and find the median, lower quartile, upper quartile,
and the least and greatest values that are not outliers.

Ordered dzia:fS, 8, 10, 10, 1(&\11, 12, 14, 16\

Minimum value: 5 Median: 10 Maximum value: 16
8,8, 10, 10,11, 12, 14, 16
- -

Lower Quartile: Find the median of 5, 8, 10, 10. Since there are two middle numbers, add them
together and divide by two.

8+10 =9; So 9isthe lower quartile





[image: image3.png]Upper Quartile: Find the median of 11, 12, 14, 16. Since there are two middle numbers, add
them together and divide by two.
12+14

=13; S0 13 is the upper quartile

Interguartile Range: The difference between the Upper Quartile|and the Lower Quartile
13-9=4
Step 2: Draw a number line that includes the least and greatest numbers in the data.
Step 3: Mark the extremes, the median, and the upper and lower quartile above the number line.

Step 4: Draw the box and the whiskers. E
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1.

[image: image4.png]The amount of snow each week was
measured in New York City and Chicago for
a certain winter. The data are represented in
the two box-and-whisker plots below.
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Which city had the higher median snowfall?




2.

[image: image5.png]The box-and-whisker plot below shows the
number of workers at given points
throughout the day.
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What is the difference between the lower
quartile and the upper quartile?




3.

[image: image6.png]Hosea is making a box-and-whisker plot of
the data below.

30,32, 18, 41.23.26. 32. 25

Over what value should Hosea draw the
left side of the box in his plot?




4.
[image: image7.png]The table below shows a professional baseball player’s statistics for “Runs Batted In” (RBI)
from 1998 through 2004.

STATISTICS
Year RBI
1998 56
1999 120
2000 89
2001 100
2002 53
2003 39
2004 24

Which of the following box-and-whisker plots best represents the RBI data shown in the table?
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[image: image11.png]10.)
‘The table represents the temperature inside a Snow Park with respect to hours.
Which of the histograms represents the data correctly?
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[image: image12.png]11) The graph shows the tdephane bills of customers of a city.

Howmany cstomers had telephone bilk grester than $407

Amourt of Tolophons B

T mount )




[image: image13.png]7.) Suppose that the two histogrars below show the sleeping habits of the teens at two different riddle
sehacls, Wheatland Midle School i a srall rral s haol consisting of 100 students while Ubardsle Middle
School islocated i lazge city and has 3,500 stulents.
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Which riddle school has rore actual stude s that slee pbetween 8 and 10 howrs per right?





